
National 5: Mixed Exam Questions 3
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The graph below shows two straight lines.

The lines intersect at the point P.

Find, algebraically, the coordinates of P.

0. Evaluar

24+ 546 = 60.

11 Factorise fully

, evaluate f(=3).
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10. A necklace is made of beads which are mathematically similar.

“The height of the smaller bead is 0'8 centimetres and its area is 06 square

“The height of the larger bead is 4 centimetres.

Find the area of the larger bead.

Olga normally runs a total distance of 28 miles per week.

She decides to increase her distance by 10% a week for the next four weeks,

How many miles will she run in the fourth week

Expand and simplify

(Bx 4 1) = 5 + 4),
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